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I Solve the initial value problem: sin(x- y)+cos(x- y)-cos(x y)y' =0; 

multiply the equation by an integrating facto to make the equation exact) 

yeO) = 7n"/6. (Hint: 

(*;m 10:5.3-) 

2 Find the general solution of the differential equation: 

Laplace transform method) 

y" - y =2sin2(x). (DO NOT use the 

(*;m 10 it) 

3 Solve the initial value problem: x2y"-6y=8x2 
; y(l)=l, y'(l)=O. 

4 Use the Laplace transform to solve the equation: J(t) = cos(t) + e-u f~ J(a)e 2a da. 

5 
-lS 

Find the inverse Laplace transform of F(s) =-2­
e 
-­

s (s+ 

(*;m 10:5.3-) 

(*;m 10:5.3-) 

6 LetJ(t)=l, O~t~;r, find the Fourier cosine series and the Fourier sine series of J(t)on 

interval [O,;r] . (*;m 15 :5.3-) 

7 Let 

(1) 

(2) 

A=[i2 !4 ~1 x=[::]. ~d B=[~l (*;m 1551-) 

find the determinant (IAI) of the matrix A, and find the solution of AX = B by Cramer's 

rule. (;f..+;'!!8~) 

Find the inverse matrix (A-I) of the matrix A, and find the solution of AX B by 

X = A-lB. (;f../J';,!! 7 ~) 

8 Let A=[~ ~T x=[::].and X(/=O)=X(O)=[~l (*;m2051-) 

(1) find the eigenvalues and eigenvectors of A. (;f..tJ-;'!! 5 ~) 

(2) find a fundamental matrix (n(t) ) for the systems of linear differential equations, 

X' =AX. (;f..tJ-;'!! 5 ~) 
(3) find the general solution of the system X' =AX. (;f..tJ-;,!! 5 ~) 

(4) solve the initial value problem of X' = AX with X (0). (;f..tJ-;'!! 5 ~) 


